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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wher ever necessary.

3. Figurestotheright indicate full marks.

4. English version Authentic

Q. 1 (a) Distinguish between Population Survey and Sampteey (07)
(b) Write short notes on:
(1) Size of sample (2) Charactersst€good sample. (07)
Q. 2 (a) Calculate the co — efficient of quartile deviatioom the following: (05)
Xi 0-10 10-20 20-30 30-40 40-50 50-60 60-7( 70-80 0-98
fi 2 11 17 25 20 10 8 5 2
(b) Find co-efficient of mean deviation from the folimg : (05)

12, 17, 23, 25, 29, 29, 31,32,37

(c) Find standard deviation and variance from theofelhg data : (04)
60, 45, 25, 40, 70, 32

Q 3 (a) Find co-efficient of skewness by using Bowley’'stirod. (07)
Xi 11 12 13 14 15 16 17 18 19
fi 12 26 35 43 30 21 16 10 7
OR
(a) Find the Karl Person’s co-efficient of skewnessrirthe following data. (07)
X 0-20 20-40 40-60 60-80 80-100 100- | 120-140
120
F 5 10 30 30 15 7 3
(b) Find co-efficient of correlation by Karl Pearsoiviethod (07)
X 1 2 3 5 4 0 6 2 5 3
Y 2 4 5 1 0 3 2 4 3 6
OR
(b) Find co-efficient of rank correlation by spearnsaniethod (07)
X 35 40 42 43 40 53 54 49 41 55
Y 102 101 97 98 38 101 97 92 95 95
Q 4 (a) Find the regression line of Y on X and find théueeof Y when x = 8 (06)



X 1 2 3 4 5 6 7

Y 8 12 15 20 22 25 31
OR
(a) Find the regression line of Y on X from the folliogy date (06)

n = 25yx = 150,y = 125
Y'xy = 500,3x* = 1000

(b) (i) A box contain 4 Red and 6 Black balls. Twolbalre picked at random fror®4)
find the probability of getty both the balls of same colour.
(i) If 2P(A) == 3 P(B) = 5P(AB) %2 then find P(AB) (09

OR
(b) Write short notes on : (08)
i. Union of Event.
ii. Difference of event
iii. Intersection of two events
Iv. Random Experiment

Q 5(a) Obtain Laspeyre’s, Paache’s and Fisher’s indexnameber from the following: (07)

) Base Year Current Year
Commodity _ _ _ _
Price Quantity Price Quantity
A 3 30 10 50
B 4 20 14 35
C 8 15 20 20
D 10 10 25 14
E 12 8 30 10
OR
(a) Obtain index number by (i) Total Exp. Method (igrkily budget method (07)
) Base Year Unit Price
Commodity .
Unit (Qty) Base Year Current
A 100 8.00 12.00
B 25 6.00 7.50
C 10 5.00 5.25
D 20 48.00 52.00
E 75 15.00 16.50
F 30 9.00 27.00
(b) Write short noteson : (07)

1. Uses of Index numbers

2. Limitations of Index numbers
3. Fixed Base method

4. Cost of Living Index Number
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X 0-10 10-20 20-30 30-40 | 40-50 50-60- | 60-70 70-80 80-90
F 2 11 17 25 20 10 8 5 2
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12,17, 23, 25, 29, 29, 31, 32, 35, 37.
(5) ~flaL vadis w2 w321 [ 2 [Qadnis Al (04)
60, 45, 25, 40, 70, 32.
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Xl 11 12 13 14 15 16 17 18 19
Fl 12 26 35 43 30 21 16 10 7
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Xl 0-20 20-40 40-60 60-80 80-100 100-120 120-140
Fl 5 10 30 30 15 7 3
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X 1 2 3 5 4 0 6 2 5 3
F 2 4 5 1 0 3 2 4 3 6
2l
(o) 13 il w2 s Ry )l Ad ueAoials A4l (07)
X 35 40 42 43 40 53 54 49 41 55
Y 102 101 97 98 38 101 97 92 95 95
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Commudity Base Year Current year
Price Quantity Price .Qty.
A 3 30 10 50
B 4 20 14 35
C 8 15 20 20
D 10 10 25 14
E 12 8 30 10
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A 100 8.00 12.00
b 25 6.00 7.50
C 10 5.00 5.25
d 20 48.00 52.00
e 75 15.00 16.50
f 30 9.00 27.00
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